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Work for #1 (g) and (h)
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(2) Use Cramer's Rule to solve the following system. { 3 i
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(3) Expréss the system of linear equations as a matrix equation of the form AX=B. Then solve the
x-3y=4

matrix equation by multiplying each side by the inverse of the coefficient matrix.
{ 2x+4y=1

(14 points)
Find Inverse aﬁk[flq]
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2x* +4y =13
. (14 points)

(4) Solve:
-y =1

Egré 2682 Ay+2y =131 7
2y’ rtly=e=

2 -3)= 0
QﬁjijS)“ (”‘é-j}(ii)
2(yt3Yy-1)=¢ e =
H:—-; j: /
QXL: /3’45
2)(2: 25 ,?xzzq
X"rg xl-:z‘i
=25/ X=1%/rz
(14 points)

(5) Solve using any of the methods discussed in class.
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] ‘ i N X -12x +4
(6) Find the partial fraction decomposition of ——————— (14 points)
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(7) Use_matrix methods (Gaussian elimination or Gauss Jordan) to solve: (14 points)

-x-2y-z=-3
2X+y+z=16
X+y+2z=9

You must obtain row echelon form or reduced row echelon form. Be sure to label operations
performed at each step.
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